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Showing O is  the unique  fixed point: Suppose I xn ) converges
 to  x. Then

Tx  
=  X

,

then by uniqueness part of Contraction Mapping Principle , x=0
.
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Tho = o by the existence part of Contraction Mapping Principle .
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Show that

every continuous  function -5 :[ oil ] -510.13

has  a  fixed point .

So 1) If -5101=0 or TCH =L
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then I has  a  fixed point .
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Let f :[ a.b ] → IR be a U  
function

.

Show that
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a global differentiable inverse g ⇐ Vx  e la , b)

,
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 -5lb ] is strictly increasing continuous
,

in particular is bijective
.

Then there exists global inverse g :[ flat ,  -5lb ) ] → laid which is continuous

and strictly increasing by the Continuous Inverse Theorem ( I Bartle
,

Thin  5.6.53 )
.

Also
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-5 is differentiable  with -549*0
,
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Differentiable Inverse Theorem ( I Bartle : Thin6.1.83 )
, g is  also differentiable
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